

Magneto Thermodynamics Stress In A Hollow Cylinder

Sunil D. Bagde

Department of Mathematics, Gondwana University,
Gadchiroli - 442605 (M/S), India
Email: sunilkumarbagde@rediffmail.com

Abstract-

This paper is concerned an analytical method of magneto thermodynamics stress in a finite hollow cylinders under a sudden temperature change in magnetic field. The interaction between deformation and magnetic field in a hollow cylinder is considered by adding a Lorentz electro magneto force into the equation of thermo elastic motion of a hollow cylinder in an axial magnetic field. Utilizing finite integral transforms one can solve the equation of magneto thermo elastic motion and obtain the analytical expressions for the time response of magneto thermodynamics stress for a finite hollow cylinder

Keywords: Hollow cylinders, Hankel transform, Laplace transform, magneto thermodynamics, Stresses.

Introduction:

In this paper, an attempt has been made to determine the magneto thermo stresses in a finite hollow cylinder under a sudden temperature change in a uniform magnetic field with boundary conditions, by using the Hankel transform and Laplace transform techniques.

Nomenclature

$T(r, t)$ - Temperature charge (absolute temperature minus reference temperature).

\tilde{U} - Displacement vector

U - Radial displacement

σ_r, σ_θ - Radial stress and circumferential stress.

ρ, t, a, b - Density, time and internal and external radii of a hollow cylinder coefficient of linear thermal expansion.

λ, G - Lamé constants

E, ν - Young's modulus and Poisson's ratio

μ - Magnetic permeability

\tilde{H} - Magnetic intensity vector o, o, H_z

\tilde{e} - Perturbation of electric field vector.

\tilde{h} - Perturbation of magnetic field vector (o, o, h_z)

C_1 - Elastic wave speed

C_2 - Magnetic interference wave speed

C_L - Magneto thermo elastic wave speed

$D - (r - a)(b - a)$

$\tau - (tC_L)/(b - a)$

$\sigma_r^* - \sigma_r / (\alpha ET(r, t))$

$\sigma_\theta^* - \sigma_\theta / (\alpha ET(r, t))$

$h_z^* - h_z / (\alpha H_2 T(r, t))$

Statement Of The Problem

Consider a long hollow cylinder with perfect conductivity placed initially in an axial magnetic field $\tilde{H}(o, o, H_z)$. Let this hollow cylinder be subjected to a rapid change in temperature $T(r, t)$ produced by the absorption of an electromagnetic pulse or γ -ray pulse radiant energy. Assuming that the magnetic permeability μ of the hollow cylinder equals the magnetic permeability of the medium around it, and omitting displacement electric current, the governing electro dynamic Maxwell equations for a perfectly conducting, elastic body are given by

$$\tilde{J} = \text{curl} \tilde{h}, \quad -\frac{\mu \partial \tilde{h}}{\partial t} = \text{curl} \tilde{e}, \quad \text{div} \tilde{h} = 0, \quad \tilde{e} = \mu \left(\frac{\partial \tilde{U}}{\partial t} \times \tilde{H} \right) \quad (1)$$

Applying an initial magnetic field vector $\tilde{H}(o, o, H_z)$ in cylindrical polar co-ordinate (r, θ, z) to Eq. (1) we have

$$\tilde{U}(ucr,t,0,0), \quad \tilde{e} = \mu \left(o, H_z \frac{\partial u}{\partial t}, o \right), \quad \tilde{h} = (o, o, h_z),$$

$$\tilde{J} = \left(o, \frac{\partial h_z}{\partial r}, o \right), \quad h_z = -H_z \left(\frac{\partial r}{\partial u} + \frac{u}{r} \right)$$

From Eqs. (1), (2) and (3) the magneto elastic dynamic equation of the hollow cylinder become

$$\frac{\partial \sigma_r}{\partial r} + \frac{1}{r}(\sigma_r - \sigma_\theta) + f_r = p \frac{\partial^2 u}{\partial t^2}$$

Where f_r is defined as

$$f_r = \mu(\tilde{J} \times \tilde{H}) = \mu H_z^2 \frac{\partial}{\partial r} \left(\frac{\partial u}{\partial r} + \frac{u}{r} \right)$$

The radial stress and the circumferential stress of a hollow cylinder subjected to a thermal shock load $T(r,t)$ are

$$\sigma_r(v,t) = (\lambda + 2G) \frac{\partial u}{\partial r} + \frac{\lambda u}{r} - \frac{E \infty}{1-2\nu} T(r,t)$$

$$\sigma_\theta(v,t) = (\lambda + 2G) \frac{u}{R} + \lambda \frac{\partial u}{\partial r} - \frac{E \infty}{1-2\nu} T(r,t)$$

Substituting eqs (5), (6) and (7) into eq. (4), the basic displacement equation of magneto the inelastic motion may be expressed as

$$\frac{\partial^2 u(r,t)}{\partial r^2} + \frac{1}{r} \frac{\partial u(r,t)}{\partial r} - \frac{1}{r^2} u(r,t) = \frac{1}{C_L^2} \frac{\partial^2 u(r,t)}{\partial t^2} + \frac{E \infty}{(1-2\nu)\beta} \frac{\partial \tau(r,t)}{\partial r} \quad a \leq r \leq b, \quad t \geq 0$$

Omitting the Maxwell tensor on the surface of the hollow cylinder, the corresponding boundary conditions are

$$\sigma_r(a,t) = \left[(\lambda + 2G) \frac{\partial u}{\partial r} + \frac{\lambda u}{r} - \frac{E \infty}{1-2\nu} T(r,t) \right]_{r=a} = 0$$

$$\sigma_r(b,t) = \left[(\lambda + 2G) \frac{\partial u}{\partial r} + \frac{\lambda u}{r} - \frac{E \infty}{1-2\nu} T(r,t) \right]_{r=b} = 0$$

The initial conditions are

$$u(r,0) = 0, \quad \frac{\partial u(r,0)}{\partial t} = 0$$

Solution Of The Problem

Assume that the general solution to the Eqs. (8, 9, 10, 11) may be expressed in the form

$$u(r,t) = u_s(r,t) + ud(r,t)$$

Where $u_s(r,t)$ and $u_d(r,t)$ are respectively, the static and dynamic solutions to Eq. (8), (9), (10) and (11). The static solution $u_s(r,t)$ must satisfy Eq. (13) and the corresponding inhomogeneous boundary conditions (9) and (10) are

$$\frac{\partial^2 u_s(v,t)}{\partial v^2} + \frac{1}{v} \frac{\partial u_s(v,t)}{\partial v} - \frac{1}{v^2} u_s^2(v,t) = \frac{E \infty}{(1-2\nu)\beta} \frac{\partial \tau(v,t)}{\partial v}$$

$$(\lambda + 2G) \frac{\partial u_s(a,t)}{\partial v} + \frac{\lambda}{a} u_s(a,t) = \frac{E \infty}{(1-2\nu)} \tau(a,t)$$

$$(\lambda + 2G) \frac{\partial u_s(b,t)}{\partial v} + \frac{\lambda}{b} u_s(b,t) = \frac{E \infty}{(1-2\nu)} \tau(b,t)$$

Solving Eq. (13) we have

$$u_s(v,t) = \frac{E \infty}{(1-2\nu)Bv} \int_a^v vT(v,t)dv + B_1 v + \frac{B_2}{v}$$

From Eqs (14) and (15) the unknown constants B_1 and B_2 in Eq. (16) may be determined as

$$B_1 = \frac{E \infty}{B(b' - a')} \int_a^b vT(v,t)dv$$

$$B_2 = \frac{E \infty a^2}{B(1-2\nu)(b^2 - a^2)b} \int_a^b vT(v,t)dv$$

The dynamic solution, $ud(v,t)$, can be found from Eqs (8) to (15).

This solution should satisfy the following inhomogeneous equation (19), the corresponding homogeneous boundary conditions (20) and (21), and the initial condition (21).

$$\frac{\partial^2 ud(v,t)}{\partial v^2} + \frac{1}{v} \frac{\partial ud(v,t)}{\partial v} - \frac{1}{v^2} ud(v,t) = \frac{1}{C_L^2} \left[\frac{\partial^2 ud(v,t)}{\partial t^2} + \frac{\partial^2 u_s(v,t)}{\partial t^2} \right] \quad (9)$$

$$(\lambda + 2G) \frac{\partial ud(a,t)}{\partial v} + \frac{\lambda}{a} ud(a,t) = 0 \quad (10)$$

$$(\lambda + 2G) \frac{\partial ud(b,t)}{\partial v} + \frac{\lambda}{b} ud(b,t) = 0$$

$$ud(v,0) = -u_s(v,0) = u_0; \quad (11)$$

$$\frac{\partial ud(v,t)}{\partial t} = -\frac{\partial u_s(v,0)}{\partial t} = v_0$$

Where $u_s(v,t)$ is the known static solution shown in Eq. (16) the solution of the homogeneous formula of Eq. (19), assuming $u_s(v,t) = 0$ is given by

$$ud_0(v, t) = g(v)\exp(iwt)$$

Where $g(v)$ and w are the characteristic function and natural frequency respectively.

Substituting Eq. (23) into the homogeneous formula of Eq. (19) and utilizing Eqs (20) and (21) we have

$$\frac{d^2g(v)}{dv^2} + \frac{1}{v} \frac{dg(v)}{dv} + (K^2 - \frac{1}{v^2})g(v) = 0, \quad a \leq v \leq b$$

$$(\lambda + 2G) \frac{dg(a)}{dv} + \frac{\lambda}{a} g(a) = 0$$

$$(\lambda + 2G) \frac{dg(b)}{dv} + \frac{\lambda}{b} g(b) = 0$$

The generalized solution of Eq. (2.2.24) is given by

$$g(v) = AJ_1(kv) + BY_1(kv)$$

Following Eigen equation

$$Y_a J_b - U_b J_a = 0$$

Where

$$Y_a = KnY_1^1(kna) + d_1 Y_1(kna)$$

$$J_a = KnJ_1^1(kna) + d_1 J_1(kna)$$

$$Y_b = KnY_1^1(knb) + d_2 Y_1(knb)$$

$$J_b = KnJ_1^1(knb) + d_2 J_1(knb)$$

and

$$d_1 = \frac{\lambda}{a(\lambda + 2G)}$$

$$d_2 = \frac{\lambda}{b(\lambda + 2G)}$$

Where $J_n(Knv)$ and $Y_n(Knv)$ are nth-order Bessel functions of the first and second kinds, respectively. In the preceding formula, $kn(n=1,2,\dots,m)$ express a series of positive roots of the equation (28) and

$$wm = knc_L$$

The corresponding characteristic function (27) reduces to

$$g_n(V) = A_n Q_1(C_{nv})$$

Where

$$Q_1(k_{nv}) = J_1(k_{nv})Y_a - Y_1(k_{nv})J_a$$

By means of the normalization properly of eigen functions, the constant an Eq. (36) is determined as

$$A_n = \frac{\int_a^b vgn(v)Q_1(k_{nv})dv}{\int_a^b vQ_1^2(k_{nv})dv} \quad (23)$$

Define a finite Hankel transform of $g(v)$ as

$$\bar{g}(k_n) = \text{Hankel}[g(v)] = \int_a^b (vg(v) - Q_1(k_{nv}))dv$$

Then the inverse of Eq. (39) is given by(24)

$$g(v) = \sum_{k_n} \frac{\bar{g}(k_n)}{F(k_n)} Q_1(k_{nv}) \quad (25)$$

Where

$$F(k_n) = \int_a^b vQ_1^2(k_{nv})dv = \frac{t}{\pi^2 k_n^2 J_b^2} \left\{ \left[d_t^2 + k_n^2 \left[1 - \left(\frac{26}{k_{nb}} \right)^2 \right] \right] J_a^2 - \left[d_t^2 + k_n^2 \left[\left(\frac{27}{k_{nb}} \right)^2 \right] \right] J_b^2 \right\}$$

By using Eq. (39) and performing a finite Hankel transform on Eq. (19) we have

$$\frac{2J_a}{\pi J_b} [u_d^1(b) + d_2 ud(a)] - \frac{2}{\pi} [u_d^1(a) + d_1 ud(b)] - k_n^2 \bar{u}d(k_n, t) = \frac{1}{C_L^2} \left[\frac{d^2 \bar{u}d(k_n, t)}{dt^2} + \frac{d^2 \bar{u}_s(k_n, t)}{dt^2} \right] \quad (30)$$

$$= \frac{1}{C_L^2} \left[\frac{d^2 \bar{u}d(k_n, t)}{dt^2} + \frac{d^2 \bar{u}_s(k_n, t)}{dt^2} \right] \quad (32)$$

Where

$$\bar{u}_s(k_n, t) = \text{Hankel}[u_s(v, t)]$$

The first and second terms on the left and side of Eq. (42) should be the homogeneous boundary conditions (20) and (21). Thus Eq. (42) simplifies to

$$-k_n^2 \bar{u}d(k_n, t) = \frac{1}{C_L^2} \left[\frac{d^2 \bar{u}d(k_n, t)}{dt^2} + \frac{d^2 \bar{u}_s(k_n, t)}{dt^2} \right] \quad (43)$$

Applying Laplace transforms to Eq. (43) gives

$$\bar{u}_d^*(k_n, p) = -\bar{u}_s^*(k_n, p) + \frac{k_n^2 c_L^2}{k_n^2 c_L^2 + p^2} \bar{u}_s^* + \frac{p^2}{k_n^2 c_L^2 + p^2} \bar{u}_0 + \frac{1}{k_n^2 c_L^2 + p^2} \bar{v}_0 \quad (44)$$

Where p is the Laplace transform parameter. Taking inverse Laplace transforms of Eq. (44), we have

$$\bar{u}_d(k_n, t) = -\bar{u}_s(k_n, t) + k_n c_L \int_0^t \bar{u}_s \sin[k_n c_L (t - \tau)] d\tau + \bar{u}_0 \cos(k_n c_L t) + \frac{v_0}{k_n c_L} \sin(k_n c_L t) \quad (36)$$

Using equation (40) and (41) and applying a finite inverse Hankel transform to Eq. (45), the solution

$u_d(v,t)$ of Eq. (19) to (21) is expressed as

$$u_d(v,t) = \sum_{kn} \frac{\bar{u}_d(k_n,t)}{F(k_n)} Q_1(k_n v)$$

By substituting Eqs. (10) and (46) into Eqs. (12) the general solution of the basic equation (8) to (11) becomes

$$u(v,t) = \frac{E\alpha}{B(1-2\nu)} \int_a^v vT(v,t)dv + B_1 v + \frac{B_2}{\sigma} + \sum_{k=1}^n \frac{\bar{u}_d(k_n,t)}{F(kn)} Q_1(k_n v) \tag{47}$$

Equations (46) and (47) are the magneto thermodynamic stresses.

Conclusion

In this paper, we have investigated the magneto thermodynamic stresses in a finite hollow cylinder with the help of the finite Hankel transform and Laplace transform techniques. The expressions that are obtained can be applied to the design of useful structures or machines in engineering application.

Reference

[1] Kaliski S. and Nowacki: Excitation of mechanical Electromagnetic waves Induced by a thermal shock, bull. acad. Polon. sci., ser. Sci., Techn. 1, vol. 10, pp.25-32,1962.
 [2] Dhaliwal R.S. and Singh A: Dynamic coupled thermo elasticity, Hindustan Publishing Corporation, Delhi, PP.63 I-636, 1980.
 [3] Noda N., Furukawa T., and Ashida F: Generalized thermoelasticity in an Sinfinite solid with a Hole, 3.Thermal stresses, vol.\Z, pp.385-402, 1989.

[4] Dhaliwal R.S. and Saxena H.S: Generalized magneto thermoelastic waves in an Infinite Elastic solid with a cylindrical cavity, J. Thermal stresses, vol.14, pp.353-369,1991.
 [5] Sherief H.H. and Ezzat M.A: Thermal-shock problem in Magneto thermoelasticity with Thermal Relaxation, Int. J. of ⁽⁴⁶⁾ Solids struct., vol.33, pp.4449 -4459, 1996.
 [6] Solodyak M. and Gachkevich A: Thermo elasticity of ferromagnetic solid by Deep Induction Heating, Mathematical Methods in Electromagnetic Theory, conference proceedings, pp219-222,1996.
 [7] Liang L. and Herlach F: Deformation Analysis of pulsed magnets with internal and external Reinforcement, means. Sci. Technol.,vo1.6, pp 1035- 1042, 1995.
 [8] Ezzat M.A: Generation of Generalized magneto thermoelastic waves by thermal shock in a perfectly conducting Half-space, J. Thermal stresses, vo1.20, pp. 617 -633, 1991 .
 [9] Novik O.B: Seismically - Driven Magneto thermoelastic Effect , Earth Science Sections, vol. 341, MAIK Naukal Interperiodica publ., pp 5-1 1, 1083-35 52, 1996.
 [10] John D.K: Electromagnetic, McGraw- Hill, New York, 1984
 [11] Fung Y.C., Foundations of solid mechanics, prentice Hall, Englewood cliffs, NJ, 1965.
 [12] Cinelli G: An Extension of the Finite Hankel Transform and Application, Int. J. Eng. Sci, vol.1.3, pp.534-550, 1965.